This page was exported from - Braindump2go Free Exam Dumps with PDF and V CE Callection
Export date: Sun Apr 28 10:53:22 2024 / +0000 GMT

ENO_V.-ZO].G-NG'W640-916 Exam Questions and Answers 191q Free Shared by
raindump2go[ NQ31-NQ40

2016/11 Cisco CCNA Data Center 640-916 DCICT: Introducing Cisco Data Center Technologies (DCICT) Exam Questions
Updated Today! Free Instant Download 640-916 Exam Dumps (PDF & VCE) 191Q& As from Braindump2go.com Today! 100%
Real Exam Questions! 100% Exam Pass Guaranteed! 1.]2016.11 New 640-916 Exam Dumps (PDF & VCE) 191Q&As Download:
http://www.braindump2go.com/640-916.html 2.]2016.11 New 640-916 Exam Questions & Answers:

https://drive.google.com/fol derview? d=0BwwEErkugSal. QUIJHSkxVOTIVT X c& usp=sharing QUESTION 31Which feature
monitors state transitions of components and processes in Cisco Unified Computing System? A.  finite state machineB. state
monitorC. state managerD. discoveryE. logical state arbiter Answer: A QUESTION 32What are the three basic states of an
Ethernet interface on a Cisco Unified Computing System Fabric Interconnect? (Choose three)) A.  unconfiguredB. enabledC.
disabledD. uplinkE. serverF. errdisabled Answer: ADE QUESTION 33Which three are components of the Cisco Unified
Computing System 2104 I/O Module? (Choose three.)) A.  multiplexerB. chassis management consoleC. chassis management
switchD. finite state machineE. chassis management controller Answer: ACE QUESTION 34Which two modes of setup are
offered on theinitial setup script on a Cisco UCS Fabric Interconnect? (Choose two.) A.  RestoreB. SetupC. ConsoleD. Seridl
E. Management O Answer: AB QUESTION 35Which requirement is unique to service profile templates? A. VLANB. VSAN
C. pooledidentitiesD. VNICE. VvHBA Answer: C QUESTION 36Which isthe default Predictor in the Cisco ACE 4710
Appliance? A. least loadedB. round robinC. hash cookieD. least bandwidthE. least connections Answer: B QUESTION 37
What is the maximum number of Cisco ACE GSS 4400 Series Appliances that can be part of a high- availability mesh? A.  16B.
8C. 4D. 3E. 12F. 14 Answer: B QUESTION 38When the typical TCP congestion avoidance process is engaged due to
congestion, by what percentage is the congestion window reduced? A.  12%B. 25%C. 50%D. 75%E. 100% (send zero
window) Answer: C QUESTION 39Which two are advantages of a modular data center design? (Choosetwo.) A. complexityB.
scalabilityC. ease of managementD. resilience Answer: BD QUESTION 40Which three Cisco Nexus 2000 Series Fabric
Extenders include four 10GE fabric connections to the upstream switch? (Choose three)) A.  2148TB. 2224TC. 2248TD.
2248TPE. 2232PPF. 2232TM Answer: ACD !'!RECOMMEND!!! 1.Braindump2go|2016.11 New 640-916 Exam Dumps (PDF
& VCE) 191Q& As Download:http://www.br aindump2go.com/640-916.html 2.Braindump2go|2016.11 New 640-916 Exam
Questions & Answers:https://drive.google.com/folder view?id=0BwwEErkugSaL QUIJHSkxVOTJvT Xc& usp=sharing
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